
§·¤æ§ ü / Unit-I

1. ÂýÖæßè çÙØ‹˜æ‡æ ÕÙæ° ÚU¹Ùð ·ð¤ çÜ° çßîæèØ ÂýÕ‹Ï·¤
·ð¤ ©UîæÚUÎæçØˆßæð´ ·¤è M¤ÂÚð¹æ ÎèçÁ°Ð

Outline the responsibilities of financial manager
for maintaining effective control.

¥Íßæ / OR

¥æÂ·¤è ·¤`ÂÙè ·ð¤ çßSÌæÚU ·ð¤ çÜ° ¥çÌçÚU@Ì çßîæ
çÙ‡æüØÙ ·¤è ¥æßàØ·¤Ìæ ãñUUÐ §â·ð¤ çÜ° ¥æÂ ç·¤â
âæÏÙ ·¤æ ¿éÙæß ·¤Úð´ U»ð ? ·¤æÚU‡æ ÎèçÁ°Ð
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ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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Your company is in need for additional finance-
decision for its expansion programme. Which
source will you choose for this ? Give reasons.

§·¤æ§ ü / Unit-II

2. ÒÜæÖæ¢àæ ÙèçÌÓ ·¤è ÃØæBØæ ·¤èçÁ°Ð °·¤ âéçSÍÚU
ÜæÖæ¢àæ ÙèçÌ ·ð¤ ¥æßàØ·¤ Ìˆßæð´ ·¤æ ¥æÜæð¿Ùæˆ×·¤
ÂÚUèÿæ‡æ ·¤èçÁ°Ð

Explain the term ‘dividend policy’. Critically
examine the essentials of sound dividend policy.

¥Íßæ / OR

×æðÎèç‚ÜØæÙè-ç×ÜÚU ©UÂæ»× ·¤è ÃØæBØæ ·¤èçÁ°Ð
§â ©UÂæ»× ·¤è âè×æ°¡ @Øæ ãñ´ U?

Explain the Modigliani-Miller approach. What are
the limitations of this approach ?

§·¤æ§ ü / Unit-III

3. Â¡êÁè ÕÁÅUÙ âð ¥æÂ @Øæ â×ÛæÌð ãñ´U? °·¤ ¥æñlæðç»·¤
â¢SÍæ ·ð¤ ÎëçcÅU·¤æð‡æ âð §â Âý·¤æÚU ·ð¤ ÕÁÅUÙ ·ð¤
©UgðàØæð´ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

What do you mean by Capital Budgeting ?
Discuss the purposes of such budgeting from the
point of view of an industrial concern.

¥Íßæ / OR
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X ÌÍæ Y Îæð ÂæÚUSÂçÚU·¤ ¥ÂßÁèü ÂçÚUØæðÁÙæ°¢ ãñ´U çÁÙ
ÂÚU ÚUæð·¤Ç¸U ÃØØ çÖ‹Ù-çÖ‹Ù ãñ´UÐ çßßÚU‡æ §â Âý·¤æÚU
ãñU Ñ

ÂýæðÁð@ÅU X ÂýæðÁð@ÅU Y
G G

ÂýæÚUç`Ö·¤ çßçÙØæð» ·¤è Üæ»Ì z,®®® |,z®®

UÂýÍ× ßáü ·ð¤ ¥‹Ì ·¤æ
ÚUæð·¤Ç¸U ¥æ»×Ù {,®®® },}®®

Âê¡Áè ·¤è Üæ»Ì v®' ãñUÐ àæéh ßîæü×æÙ ×êËØ ¥æñÚU
¥æ‹ÌçÚU·¤ ÂýˆØæØ ÎÚU ·ð¤ ¥ÙéâæÚU ÂçÚUØæðÁÙæ¥æð´ ·¤æ
©UÂØé@ÌÌæ ·¤è ÌéÜÙæ ·¤èçÁ°Ð ç·¤â ÚUèçÌ ·ð¤ çÜ°
¥æÂ â¢SÌéçÌ ·¤Úð´U»ð?

There are two mutually exclusive Project X and
Y which involve different cash outlays. The details
are as follows :

Project X Project Y
G G

Cost of initial investment 5,000 7,500
Cash inflows at the end
of 1st year 6,000 8,800

The Cost of Capital is 10%. Compare the
project’s suitability under N.P.V. and I.R.R.
method. Which method would you recommend ?



§·¤æ§ ü / Unit-IV

4. çßîæèØ çßàÜðá‡æ ¥ÙéÂæÌ çßàÜðá‡æ âð ç·¤â ÌÚUãU
â`Õç‹ÏÌ ãñ´ U? ©UÎæãUÚU‡æ âçãUÌ ÃØæBØæ ·¤èçÁ°Ð

In what way is financial analysis related to Ratio
Analysis ? Explain with example.

¥Íßæ / OR

ÂçÚU¿æÜÙ ÜèßÚðUÁ ·¤è ¥ßÏæÚU‡ææ ·¤è ÃØæBØæ
·¤èçÁ°Ð ÂçÚU¿æÜÙ ÜèßÚðUÁ ·¤è âè×æ ·¤æð ¥æÂ ·ñ¤âð
×æÂð´»ð?

Explain the concept of operating leverage. How
will you measure the degree of operating
leverage ?

§·¤æ§ ü / Unit-V

5. ·¤æØüàæèÜ Âê¡Áè ·¤è âÈ¤Ü °ß¢ àæéh ¥ßÏæÚU‡ææ ·¤è
â¢ÿæðÂ ×ð´ ÃØæBØæ ·¤èçÁ°Ð §Ù×ð´ âð ç·¤â ¥ßÏæÚU‡ææ
·¤æð ¥æÂ Ââ‹Î ·¤ÚUÌð ãñ´U ¥æñÚU @Øæð´?

Explain, in brief, the gross and net concepts of
Working Capital. Which of these concepts do
you prefer and why ?

¥Íßæ / OR

S·¤‹Ï @Øæ ãñU? S·¤‹Ï ·ð¤ çßçÖ‹Ù Âý·¤æÚUæð ´ ·¤æ ß‡æüÙ
·¤èçÁ°Ð

What is Inventory ? Discuss the various types of
Inventory.

———
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